Manual

T13000

SPECIFICATIONS

ACOUSTIC & ELECTRICAL SPECIFICATIONS:

Technical

SYSTEM COMPONENTS: (cont'd)

* Nomingl Impedance: 6 ohm DC Resistance: 4,4 ohm

* Recommended Amp Power: 50-200W * Tweeter 050TI 25mm

* Frequency Response: 40 Hz - 30 kHz (-6dB) Titanium Dome Tweeter
* Sensitivity: 90 dB / 283V / 1 m DC Resistance: 3,8 ohm

* Crossover frequency:

SYSTEM COMPONENTS:

350 Hz and 3 kHz

* Crossover Network:

NTI3000 (270503)

PHYSICAL SPECIFICATIONS:

* Cabinet CTI3000 gNot for sate) * Enclosure Dimensions (H.W.D): 410_53(’)/821085;68“36)3/4 In. D
* Grille: GTI3000 (240505) L 1050x460x350mm
* Woofer 710H 250mm Woofer * Shipping Weight: 8 Ibs. (40 kg.)

DC Resistance:
* Midrange

50mm voice coil

5,3 ohm

705G 130mm Midrange
30mm voice coil

PACKAGE

WARRANTY INFORMATION:

* Refer to the Warranty Statement packed with each product

WIRING DIAGRAM

JBL Consumer Products Inc.

80 Crossways Park West, Woodbury, New York 11797

Tweeter
050TI
End Pad (4) (971700)
983265 -1+ RED Network
N TI3000
Midrange (270503)
Foom 705G
Packaging (2) (971703)
989027
Woofer
710H
(971712)
-1+ BLUE
SCHEMATIC TI3000
R1
180 c2
. 10W 6.8UF
H
H|g|"l LL} -
Freq L1 RS 05071
- %0.12MH @%o »fll 5
-3 RED
R3
c3 L2 180
SEUF  09IMH 10w RED
] [ S— +
cS L3 R4 705G
c4 IIEUF e 8ea
2.2UF
L4
+ S.6MH BLUE
Lo —— Tce T
Fr:q lmour égg o} Jmnl)H
Carton e 10w -
981592 _@
NOTE: CONE/DIAPHRAGM KIT NOT AVAILABLE.
DEFECTIVE DRIVER SHOULD BE REPLACED.
5-95 REV A

Ti3000



00081L

COMPONENT EXPLODED VIEW

941498

O

\

Grill
GTI3000
(240505)

Ti3000

Grille retainer (6)

933007

Cabinet
CTI3000

(Not for sale)

Tweeter °
0501l
Screw (4) (971700)
M4x30
941497
\ °
v Midronge O
705G
Screw (4) (971703)
M5x30

Port tube
(Not for sale)

\

o

Woofer

710H

(971 712) e
Screw (8)
M4x30
941499

,_/

Screw

M5x30

941498
Logo
945007

NTI3000
(270503)




